
SECTION 4.1 (HALF-DAY 2)

1. What is wrong with the following answers:

Problem: Find the derivative of f(x) = 2xex Answer: 2(ex + xex)

Problem: Find the derivative of y = 2 tan�1(x) Answer: dy/dx = 0 · tan�1(x) + 2 · 1
1+x2

2. A 15-ft ladder is leaning against a wall. The top of the ladder slides down the wall. Assume
that the ladder is rigid and does not shorten or lengthen as it slides. The top is sliding down the
wall at a rate of 0.1 ft/hr. How fast is the angle between the ladder and the ground changing when
the top of the ladder is 10 feet high?
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3. An airplane is flying overhead at a constant elevation of 4000ft. A man is viewing the plane from
a position 3000ft from the base of a radio tower. The airplane is flying horizontally away from the
man. What is the speed of the plane if the distance between the person and the plane is increasing
at the rate of 300ft/sec at the instant the plane is passing over the radio tower?
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